
  
  
  
  
  

  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  

   -1- فرض محروس في العلوم الفيزيائية              

ر. باك ع 2                  الأسدوس الأول                                                     


	��ي    .ع:ذ  

16/11/2011  

   س2:  الإنجازمدة
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طI-)8-�ءــــــز�ــــ�ـــ�ـــا��(  
  �� ا	ط�����ا	
و��ت ا	ز	زا	: ا	�زء ا�ول

1 (����� 	
���� إ�� ��ة أ��اع، �
آ�  ���%$�� ا�#�"�ت ا� � ا��� ا� &'��  ا*رض �� ،�  : ��� �0وث ز� ال أر+

�"�ت B�4A� و$@$�� ا*��4د). 1- ا�=:>( �:89 ا���7ر و�#�ده� ����P  23�4ا�#�"�ت � � .وه
�C�D ا�4#�دي ��E ا�SC�Dا�#�"�ت  �Gا �H ��9��" ض ا���7ر�I�
	 ا�#�"�ت ). 2-ا�=:>( ا��=�ره�   ���B <3أ �وه

P�KAا*��4د أ �و$@$� . 
� ا �4D> ا*رض Lا�#�"�ت  �H ��C�D ا�4#�دي ��E ا�C�D ا��=�ره� � أ�IHازهGا �H ،�LM 2 إ����" 	
). 3- ا�=:>( 

��=� �OPB �E وه�� ).$���Q� ا*��4د (ا*رض ا*B�ع، 

   
  
  
  
  
  
  
  
1-1 -Rا��" @E4
�4�+� وا�#�"� ا����P�،  ا�#� �0د S#ا� �"  

 �9S�����I��Sا�#�"�ت ا� 	
 �"�
 <:�.  
1-2 -�+�4�S
��	، إ�0اه#� �:���:�
 	��"�#� 	A�LM 	���T
   أذآ� 

����V ى�L*وا.  
� "#��� أ��آ� �Y�E3Z أزA@ل4-�#T> و$�I� ا�=:>) 2H &$�0 ��+ه ة أر <�DS�  ��B 	
 &=[ ��\ �H 2010.�V 	
 <�DS�ف أ�D  ا�

� ��A �H��DEء، و�V`� ���#��4 ا���ا� �P'
� "#��� . Z وY وYKA X د�4Hت 
	 ا�#�"�ت ا� � ا��� H ��+ا�� ة ا*ر �Aا�� �a'� �9�4�
 �
�آ  ا� � ال(أ��آ ( bAار��E� @`أt=0.  


	 L@ل ا��$�I� �0د `�� ا�#�"� - 2-1   

	 ا���4Hت  <:� cHا�#�اXو Yو Z.Rا��" <E�  

  اA� ا�� ة P'#� &EDB� ا��`� �E#� أن ��- 2-2
 ���Sا� �E�19h46min02s���S�0د ا� ،  

� ��أت ���H ا�� ة ا*ر+�� �  .�#�آ  ا� � ال ا�
�#T> و$�I� ا�=:>) 3-5 �H�S#ات ا���f� d   


	 V�ف ا�#�"�ت  ���PI#ا�L 	
  .�G�� t� ا� 
3-1 - �H�S#أو"� ا� D آ  ا� � ال�
 <�g� ��   ا�


'P� ا��`� 	� .  
3-2 -Bر ا�#�"�ت  ا�=��G �PB���h ا�S��� ا�#��P���Sا� Y$ ،  

�=�ر ا�#�"�ت �G �PB��  .S ا�#
     ا	آ�ف �ن و�ود ��ول �و��� 	ل��ط:ا	����ا	�زء

 ���E�� ة آ�
 �3�P#� ودة 
 ��0�\ �PB��2500اkgOPB ع�I� ،  
��دد � �Aا*رض دورN=14Hz�ز� ا�� �"�#� ������
  ، �'�ث د�4Hت 

�#> �'�IلA#:	 ). 6- ا�=:>('
����j ه
C ا�#�"�ت �E:=� �	 و"�د   
� ��V	 ا*رض، �	 V��B��3 cAت ]�� 
�9\�ةH ��Pg�<�DS� �E�  :���   

� ��V	 ا*رضH �ر ا�#�"�ت ا� � ا���=��9� �	 ا������� ه
C. ا*`�اء ا�#�  
���V�9ا� �ت ا*ر+��I9P8 ا���D�  �9B �E4H> ا�#�Tل. ا*`�اء �29S ��م 

  ا�#�"� 
	 I9V� ���V� إ�� I9V� ر
�E� ا�4:�س E� <��3�20��A �` ا���Iل 
9�� �OPB �E ا*رضT
 �`�L ف أ"� ة�V 	
 .��E
  �E#� أن ا��I9Pت ا��
�Aر���ا�#�اد ا����روآ m49� ��4�9V %DE
 <:=� .n�
  وه
ا 
� 2DA ا��%آ� 

�g'ا� ���I��4#�ل B��.  
  أن B��� �E#�"� ا� � ا��� ا�#'�$� �λ �#Eأ�V 2S0ل ا�#�"�  )1

��S��D� ه
4�9�ه� � ��� ا�I9P� ا*ر+�� ا*و�� ا�H ره��=�   ا�
V=6,2Km/s .  
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  ا������
 ����2/ 4  

  
  
  
  
  ن0.75
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  I9P� ا*و���Y ر`� ا�#�"� ا�S:4�#� ��E ا�'� ا��g`> ��	 ا�) 2
 p3@ف ا��V 	
 ���E� ��
�ور R وا�I9P� ا� 580 ��4ms�a'� 	�   

   hأو"� �3#� ا�c#4  . ا��49ث ا�#�"� ا��اردة 
	 ا�#P�3� ا�#�� ة
  .�I9PE� ا*ر+�� ا*و��

4�9� أن� h EH≃ q�0 ،EH qET#ا� rE+ EHR.  
  ��ط$�د�د #
ك ط��� �و��� 
ن ا	: ا	��	ثا	�زء

�����H �j ا�#�"�ت ��#4> ��
ا ا�f�ض ���I� ا�:=� �����ى ا��S�  
���� .  �Hق ا���H �a'�t=08 "��ز ا�:=� �����ىD
 <B�A   

��� "� و"� ة، �#�د�E� �A ا�OPS ا�'� �
 ���  إ\�رة �Hق `�
pgا�� 	
 ��H�" �I9P� .رة�\tا 	
  �E� 8:4�A ه
ا ا�OPS " ء 

 Dا� �=��A 	�0 �H ،ا��اردة  �Luةء ا�
 8:4��� ��Pgا�� �I9Pا� �H  
 �I9Pا� C
   ).7-ا�=:>( أL�ى ��E 43� ه
 �a'E8 ��� ا�D#ا� �=:At1 ا�' ة 	� P1رة�\w� �IHا�#�ا   

 �a'Eو��� ا� ،��Pgا�� �I9Pا� OPB �E� �S:4�#ا�t2 ا�' ة 	� P2 �I9Pا� C
�#T> و$�I�. ا�#�اIH� �w\�رة ا�S:4�#� ��E 43� ه  
��	 8- ا�=:>S:4�#ا� 	����	 �w\�رIHا�#�ا 	��� ا�' PP7
.  

� B��� ا��=�ر .  R#B ا�I9P� ا���Pg�Dأو"� #�3� P4ق��H ا��7م ا�ا�#�"�ت pgا�� �H �����V=1,4Km/s.  

  
  
  
  
  
  
  
  
  

طII-)5-�ءــــــز�ــــ�ـــ�ـــا��(  

 n+�� c\ �PBا��  D��a�Q�+ r9�
4�#� و+4& أ
�م 
 �'�g�� �"�A ،p9KE� <��3  ا���اء �H n�"�
 ��Kء أ�0دي ا��Eن �Vل 
0
λ 


H�S� ).1- ا�=:>( �E� �"�� ��Bرأ �\�\ �E� ه��=� D=2,5m ��+�� �A آ�
 �4I� ��PB�� �4I� ،c=ا� 	
 L .8�I� L �9S����  
7�gE� ل 
 Y�I�a .��'�#ا� pL 	
 �E�'#ا� hQ���#:	 ا��  

L=f(1/a)) <:=2-ا�.(   
1 (cHأ\:�ل ا�'��د ا�#=�ه�ة، ا�#'�رو �"��   أي 
'�ر 
 xx' أم ا�#'�ر yy'Rا��" <E� ؟.  

2 (�4I� �E� <�'� c=ض ا��4� ���4
 �#�I� �9S����  
 ��+�� �A آ�
 L1=18mm . �"�#ل ا��V �#�3 �"أو  

0
λا���اء �H <#4�S#ن ا��Eء ا*�0دي ا��KE�.  

3 (��Sا� �#�I��� zg�'� rKو� c=ض ا��4� �I�'�gا�� 	��  
��P@ت، S#ازي ا���
 <:\ �E� ز"�ج �4P3 �\�=وا�  

�4#> ه�S#ن ا��Eء ا*�0دي ا��KE� �9S���� Cر�S:ا� <
�4
  
n .�\�\ �E� ا�#=�ه�ة �A آ�ا�# �4I9ض ا��أن � z0@�  

� �4PI� ا� "�ج ه� Bأ�ا� n"���� �I��E
L2=11,1mm  
  .)3- ا�=:> (

 <
�4
 ��94�2 #�3�L2 .n و �G�� L1� nا�S:�Gر أو"� S0أ.  
� ا���اء،H <#4�S#ن ا��Eء ا*�0دي ا��KE� �"�#ل ا��V �#�3 أن �9�4�  

� ا�g�اغH ���#�3 �9A�I���Sوي .  
 
  
  
  
  
  
   

 

 

 

 

 



  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  4 /����3   ا������
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ط7 (�ءــــــ��ــــ�ـــآـــا��(  

 R� ا� <��g�AZnR��A�9:ا� m#0 ل�E'
 r
2

3 4

(2 );
aq aq

H O SO
+ −R� ت ا����Aأ h���H2

aq

Zn
� ا����رو"�	+Q��$ و]�ز

2

H 2S0 

�����2: ا�#�4د�� ا�

3 2 2

2 2
s aq aq g l

Zn H O Zn H H O
+ +

+ → + +  

�H <T##ا� �9A�D�
ا ا��D�� <��g  ا���آ�2 ا��� ��
�r9 ا� �  ��راB� ا�

'�Eل a'� ���t=0  ��K�75mL m#0� . 1-  و$�I� ا�=:> 	
   


	 أ���Aت C آ��� R��A�9:ا�
3

H O
mol.L 0,40ه� +

� دورق1-H   

،�Sا� Y:'
 �E� ي��'A 0,50g'S
 	
 R� ق ا��.  
&��$ YD0 �Hو ��4�9� أن "#�r ا��B��Iت �#& ��� در"� 0�ارة $���.  

�E

آ� �#�4د�� ا�'��� ��fEزات ا�:�� :PV nRT=.    
R� E� ����#ا� �E�� ا�:P41: و�( ) 65,4 .M Zn g mol −=.  

 �a'� ���t=0 �#�Iإ�� ا� ��
   A P0=1020hPa=�� "��ز ا�#���
� ا����رو"�	 ). pfK ا��Dيا�(Q��$ ث ]�ز�'A ���#D#ر ا��P�  L@ل 

� ا�pfK داL> ا�H دة�Aن ز�:�� آ> �'a� . �ورق ��H�+t� إ�� ا�pfK ا��Dيا�#H ��
  . داL> ا��ورقP �3#� ا�DSAt pfK> "��ز ا�#���
pfKات ا���f� <T#A ي

	 pL ا�#�'�� ا� �Bا��را C
�#:	 ه P 	
1hPa=10 ).2-ا�=:> (�G�� t� ا� 

2
Pa.  

1 (nEgBأ �g`ول ا���Dا� Y#� �0د ا���Iم ا*��3.أ
max

x�'#ا� <��g����g> وا�#E� .  

  ���د�	 ا������
2

3 2 2

2 2
s aq aq g l

Zn H O Zn H H O
+ +

+ → + +  

 	��

 ا������	

  (mol)ا����م ب
  

  (mol)آـــ�ـــ�ـــ�ت ا�ـــ�ـــــ�دة ب 

ا����	 
	���� ا�

0 
ni(Zn) ni(H3O

+
)    

�ل �
  ا����ل

x 

     

ا����	 
max  ا�! ���	

x 
     

  
�a'� ��� <��g� x أو"� ��94� ا���Iم) 2E�t��G�� V و Rو Tو 

0
( )P P−r
  

0
Pس�I#ا�  pfKا�  �a'� ���t=0 و P pfKا� 

 �a'� ��� س�I#ا�t.   
  

 

 



  
  
  
  
  
  
  
  
  
  
 

  4 /����4   ا������
  

  

  
  ن1.25

  

  

  ن2

  

  ن1.5

  

  
  
  
 

3 ( 	:��
max

xو <��g�E� ��3*م ا�I� ا�
max

P�����0: ا�pfK ا*A��� ��� ��3� ا����g>، أ$9& ا�4@3� ا�
.

max

max 0

x x

P P

P P

=

−

−

.  

���4� �#�'�� ا�=:>) 4BG��-2 �a'Eا� ��� <��g�E� ��#D'ا� ���Sا� 	��  t=110min.  
  

5 (<��g�أو"� ز
	 ��� ا�
1
2

t.  

 
 
 

  
  
  
 
 
 
 

  




